Learning English through Debating

Supplementary Activity for Focus 1:

Listening for Main Ideas (Learning Activity 7)
You will watch a video of a debate on the motion “Everyone under 18 should be subject to an 8:00 pm curfew”. Identify the key ideas or arguments the speakers make as you listen and fill in the blanks in the table below. 
	AFFIRMATIVE CAPTAIN

· Young people have problems such as      1) _____________, sex and pregnancy,  2) ________________________ and staying out all night.
· The solution is to have a 3) ___________ so that the time spent on these activities is limited.
	OPPOSITION CAPTAIN

· The teenage problems this motion is supposed to solve are not really serious. 
· Having a curfew is impractical because the police do not have 4) _____________ resources.
· Having a curfew will not solve the problems because drug and sexual activities can happen 5) ______________  _________________.
· The curfew is a violation of 6)_____________________.

	AFFIRMATIVE 1ST SPEAKER 

· Drugs and 7) ______________________ are serious problems in Hong Kong – examples are given to support the argument.

· The opponent is just using statistics to understate the problem.

	OPPOSITION 1ST SPEAKER 

· The opponent is not using real stories and has refused to admit that the numbers make a difference.



	AFFIRMATIVE 2ND SPEAKER 

· The issue is not whether crack cocaine is the top drug, but whether there is a drug problem.
· Alcoholism and other addictions can       8) ________________________.
	OPPOSITION 2ND SPEAKER 

· Drinking can happen in the daytime.
· The opponents have failed to show that the problem of 9)_________ and 10)__________ abuse is serious in Hong Kong.



Possible answers:

	AFFIRMATIVE CAPTAIN 
· Young people have problems such as      1) drugs, sex and pregnancy, 2)underage drinking and staying out all night.
· The solution is to have a 3) curfew so that the time spent on these activities is limited.
	OPPOSITION CAPTAIN 
· The teenage problems this motion is supposed to solve are not really serious.
· Having a curfew is impractical because the police do not have 4) unlimited resources.
· Having a curfew will not solve the problems because drug and sexual activities can happen 5) in the daytime.
· The curfew is a violation of 6) young people’s rights.


	AFFIRMATIVE 1ST SPEAKER 
· Drugs and 7) teenage pregnancy are serious problems in Hong Kong – examples are given to support the argument.
· The opponent is just using statistics to understate the problem.

	OPPOSITION 1ST SPEAKER 
· The opponent is not using real stories and has refused to admit that the numbers make a difference.

	AFFIRMATIVE 2ND SPEAKER 
· The issue is not whether crack cocaine is the top drug but whether there is a drug problem.
· Alcoholism and other addictions can
8) destroy lives.

	OPPOSITION 2ND SPEAKER 
· Drinking can happen in the daytime.
· The opponents have failed to show that the problem of 9) drug and 10) alcohol abuse is serious in Hong Kong.
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